Meremerreee o6osEes L

3HaK 3HayeHue Npumep
= PaBHO 4=4
# He paBHO 3#25
= npnban3nTenbHo 2,54=25
> < 6o/blle, MeHbLue 50>2, 4<39
> bonble nnu a2b
PaBHO
< MEHbLLE UK as<b
PaBHO
\/_ KBaApaTHbIN V25 =5
KOPEHb
| daKkTopuan 31=3-2-1=6
log, norapmom npu log,3 =8
OCHOBaHuUKM b
Ig AECATUYHbIN |g100 =2
norapuopm
const NOCTOAHHAA b = const
BE/IMYMHA
> cymma
~ noaobHo AB ~ CD
(Pi) amenomin = 3,141
° rpagyc 10°1°3"
N\MHyTbl AECATb rpaaycos

CEeKYHAbI

O/lHa CEeKYHAa TpU




MWHYTbI

sSin CUHYC sin 30° = 1
2
oS KOCUHYC cos90°=0
tg TaHreHC sina
tg a =
cos a
arcsin apKCUHYC arcsin . 30°
2
arccos apPKKOCUHYC arccos 1o 60°
2
arctg APKTaHreHc arctg 1 = 45°
sec CeKaHC secb = -
sin b
cosec KOCeKaHC cosec b = -
cos b
3 cywecTByeT 3 X —
cywecmsyem

makou X, ymo ...

4/

He cyllecTByeT

j/x—He

cyuwecmsyrom
Makoeo X, Ymo

NPUHaONEXKUT

Xé..N :

X MpUHaodnaexum
HaMypPasibHbIM
yucaam.

HE NPUHaAONEXKNT

X€/N—

X He rpuHadnexcum




HaMypasnbHbIM

yucsaam.
HaTypa/ibHble 1,2,3,4...
4ymcna
Lesnble Yyncna ..-2,-1,0,1,2...
paLMOHabHble 122
e w10, 55
OCHOBaHwue 2,718 281...
HaTypa/sibHOro

norapméoma




